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SECOND YEAR HIGHER SECONDARY SECOND TERMINAL 
EVALUATION, DECEMBER 2018 

Part- III 
BIOLOGY · 

Maximum ~ 60 Scores 

', ' 

.-" . 
Time : 2 Hours 

Cool-off Time : 20 Minutes 

General Instructions to Candidates : 
• There is a 'Cool off time' of 10 minutes each for Botany and Zoology in addition 

to the writing time of 1 hour each. Further, there is a '5 minutes' preparatory time' 
for Zoology at the end of the Botany examination. 

• Use the 'Cool off time 'to get familiar with questions and to plan your answers. 

• Read questions carefully before answering. 

• Write answer to the specific number of questions as instructed. 

• Calculations, figures and graphs should be shown in the answer sheet itself. 

• Malayalam version of the questions is also provided. 

• Give equations wherever necessary. · • 

• Electronic devices except non programmable calculators are not allowed.in the 
Examiniation Hall. 

nJlta~chno1•c.iM>A@i &n.JO®lm1ia~~RBc.i : 
• mlm1~s CTUCll<l21cm-Sim ~06)Cll <36llJ0§611il~o CT\)6(3nJ0~~~0 IO aSlml§'. oJl<mo I ~00 630n0 6)6)50' 

t6l"S0<12fh61c86l60. c&,so6l<m <Z6llJ0§611il n..Jc61dh9j~<SCJl>n!Ho '5 aSlml3"' cru6aruo~~ n..Jc61~if 
<m<l2I06los6~c&oo msm-U>6rrncmlmoavl mcd6~rrncmo6m' . 

• 'c&.&00 630n0 6)6)S01 (3.!l.J0<3J6lfl300 n..Jc61.!l.J<l216)CJ:jSOm6o ~m'U)(Of;m300 (8@)CTU,l®6mo 6).!l.J~Om6o 
~n..J(l<l21ocrilc86lJc&. 

• ~m'U><06lfl300 ~'f6®J<mcmlm ~cnJ' <B.!l.JOC3J6lfl300 ~Bl>On.ij©(l!o OJO<llJlc86l6mo. 

• ~~o nJltiOCl)cm-SieJJo mlil><Z'3u6lc86l6)CJ:j3 ~6mO <B.!l.JOC3J6lfl300<00 lllOl®<S(l) ~cm><Oo 
~'fJG<m6l'li<m~. 

• ~ c&.\&§~~, .!21ll<m6lfl300, (f.J)OnDt!,~, ClffiCTrllru ~<O<Bn..JCJ:jdlcd6 <m6l<m ~6l'lioavlc6lc86l6mo. 

• Cl\'00JCJl>J~ cruDeJmrD> CTUCllC'lJOc&J6lfl300 6)db0S6c86)6mo 

• .<l.!l.J0<3J6lfl300 meiwo~cm-Sl~o mcd6ee;lavl~ri. 

• atn..JOlCl)O~c&oo 6).!l.J~omoc&ocm> c&ocd6c86l6aeiAo6c&oo 63"16lc&(ll)~ 63<06':~ilfl.tcto611ildb' ~n..Jdbm 
~o n..Jc61cemon00§1cd6 ~n..JC(ll)Ou51c86l6ruocm n..Josl~. 
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PART-A 
BOTANY 

Maximum : 30 Scores 

Score 
I. Answer all questions from 1 to 4. Each 

question carries 1 score. (4xt=4) 

1) Observe the relationship between 
the first two terms and fill -in the 
blank. 
Fungus and alga : Lichen ; 
Fungus and roots of higher 
plants:---

2) Choose the correct answer. 

Vegetative propagule in water 
hyacinth is : 
A) Bulbil 
8) Rhizome 
C) Offset 
D) Bulb 

3) Fill in the blank. 
Detritus food chain begins 
with ----

4) Infestation of meloidegyne 
incognitia in the roots of tobacco 
plants can be prevented through a 
novel strategy. Name that strategy. 

II. Answer any ten questions from 5-16. 
Each question carries 2 score. 

(10x2=20) 

S) Write the steps involved in the 
production of genetically 
engineered. insulin. 

Time: I Hour 
Cool off Time : IO Minutes 

Score 
I. ermi Cld<mai6 moeJ' ruQa,a»dU Q(i)if-> Cl.!1.JOBJ 

ffB<iM>Ao ~<Dmmo Q(i)'IA<IDAA, SOCICDO Cl.!1.JOBJ 

Cffl>1mio 1 ca~i6 nll<11>o. (4x]=4) 

1) <U'@BJ6>mm m6YYs" o..JB6'Ul3ci6 cmam1ei6~ 
6YlJCTWo mmm.Sle.ioc96Sl nfl~ ao..1ow CilOWo 
o..1,c61~cB6>Jd». 
n.0owm>60 <U'@~(l)(I2)6o : 6>6>eJcB6>0T>; 
n.OoWm>6o ~wmrrn Cll)C!)o m>m>J6m3~6>S 

cm.Jm6o : ---

2) (Jl) m1 (I2) 0 (D) ~ C'm> Cl) o mfl Cl) 6> 6mO'> SJc:&6)Jc:8:i, 
c&.i6 ~ ru o If w16> e.i c&.i o (I2)1 c&.i Ln.UQ mm 
(i0(/)Ql06m: 

A) 6Yllci6mflcJl, 

8) 6)6)0<1m>Oo 

C) 63onrl'6>m>ff 

D) 6YlJcJl,mJ' 

3) nfl~<lo..JO(D) tiOOOo ~c6J~c:&6)6c0>. 
cuS1 LslAcru ti~J~6lle.i mra,motilc:&6)6cmcm 

~ mlcmo6lT>. ---

4) ~c&.iemleJ6>4islWJ6>S aruc61at6 6)1l)(l_eJOcuSI 
OOC/X'Q ~~o!:IJ<lVJ6>S <f@lc&.im6T'Oo 

®s<lV6cmmSlmo<l251 63~ m6®m momoomo6Yrl' 

m>Jdb'61..gJlc61c:&6)J<lTl®. ~ moioo>o o@cm'? 

II. -- CldRDcDI nJRD1moo' OJQ(O(D)- CI.AJOBJ 
ffBlla,1 ~eJdO 10 n©~ni ~ 
n©'IARDA•· eoCB<DO Cl.4.IOBJ<ffl>lmAo N1i' caO]lOi 
n.ncmo. (10x2=20) 

S) mml(!l)db Cl(i)6mllcrllarolocnleQ6>S mcmm>6ellcm 
ml&amlc.86>JmSl~ neJ§6lll3c}l, Clij)lf6C!D6c:8:i. 
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6) Define cross breeding. Name the 
breed of sheep developed in Punjab 
through cross breeding. 

7) Observe the pyramid given below. 

TC (Tertiary Consumer) 

SC (Secondary Consumer) 

PC (Primary Consumer) 

PP (Primary Producer) 

Name the pyramid. 
Draw a pyramid using the following 
data. 
PC 21 
PP4 

8) Aquatic mammals like seais have a 
thick layer of fat below their skin. 

Name this layer of fat. \Vritc the 
function of this layer. 

9) Multiple copies of the gene of 

interest can be synthesised through 
PCR. Expand PCR and write its 
steps. 

I 0) ~ame the special cdlular thickenings 
present in the synergids. Write its 
function. 

11) '!\J' ame the enzymes known as 
'molecular scissors'. Give an 
example of such enzyme. 

Score 
6) <Jt~ tm11cu51oenlm mlioru.!l.Jmo 

n©'96®6c&.,, <llc&.,Om> tm11ru.Slocnl~6>S 

n.J6'1!lJ06TlJ1 ld6 n.flavc&.,mSl~6>4!S6<m> 
6).!1.Jlll2)c61avosl6><-m mmo Cl@an" ? 

7) ~0.J6>S maf6ce;l<DS)c61~cm n.Jl~ruj' 

m1<md)m)~c&.,. 

3 

3,54,000 

708,000 

5,842,000 

nJlmo5lruJ16>1 (Jn.JM~m>6db. 

.!2.J30J6>S mc&;lcwlr61G66lcm oomo~~ 

006 nJlma\lcw OJ(l)~db. 

PC 21 

PP4 

8) siaei CT\XTOO!XTSlavoav crulefloi' m>~mslcwlld6 

c&.,§)av~ scn6 n.J~ ~~ ~ 

@70 6>c&.,0'9l,~ n.JO~<l2'66>S <Jn.JMmn? (Q'"O 

n.J~<l2'66>S <J.>ibQlo n©cm'? 

9) m>O~(l)j~ ~ml,~6>S OJ~6>a><nx.uldbo 

n.Jdbm~ca,cJo PCR e.JJ6>s m1mm1dK)o® 

ca,~av6o. PCR ruln.JJeJldbr61ceo>6ca,. 

~an]6)~ nel§6Ul3CIO n©'9l,®6db. 

10) 6>ooum&~ctL>6~arn db06TT)6)~5<1,cm c&.,~ 
av~ (JcfbOCJbce;lav CiO(J)rn3§!,6lS (Jn.J6)(l) 

'96®6db. <U"@0Jtm66>S W©Q)o n©'96m>6ca,. 

11) 1cmoDOlm> c&.,lan]ca,c&.,cfo' n©rmol<l2'6)'kJS6cm 
mocruocrrll ~cm ? lffl(ffl)(l)o m:xruocrrllcB6> 

63~ ~<30nD<06mo 0@'96m>6db. 
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12) Transgenic animals have many uses 

to humans. 

Name the first transgenic cow. 

Name the protein contained in the 

milk of this cow. 

13) The seral stages of hydrarch 

succession are given below in an 

incorrect order. Arrange them in 

correct sequence. 

Forest, Reed-swamp, scrub, 

phytoplankton, Marsh-meadow, 

Submerged free floating plants, 

Submerged plants. 

14) Match the items of column A with B. 

A B 

a. Desert Lizard i) Concentrated 

urine 

b. Kangaroo rat ii) Diapause 

c. Snail iii) Bask in the 

sun 

d. Zooplankton iv) Aestivation 

v) Hibernation 

15) Name the bacterium from which cry 

genes were isolated. Name any 

two kinds of cry genes. 

11111111111111111111111111111111111 

Score 
12) && m1 <ll> • ai o Ao ru m6 rm,1 av ai11 cn m cJ6 

ai m6n!:1JltcN1 ru eJ n>'I m11 ~ m1a mru <J av o Cl) 

ln.J 11 ai o m1', 

q11Jaio~ 1&rrll<ll>cta'2lOA0 rurr,6cmf!av 
n.J~nJ16'l"'1 ao.J6)Cl)nur ? ~ ru~nJl~ 
ruoelleg a>Oo<rujcrml6>"'1 <Jru6>m~ ? 

13) 6'l6'lnOlC'WOili6 C1Ufan!l6>~ m11oaf6 neJ§ 

m cJ6 6'l Cl!) Ao av l • m cm,1 af6 .0.J6 ru 6> s 

maf6dblai1lc6lcM>6cm6. Cll'l)OJ6>av C1Dc6lavoav 

l•mcmSlaf6 n(j)'l6Cll)66. 

rumo, oicw" m>Jom!, l<WW, 

m>m>j9dC'lJ601 QlO(t)o!l' 6)Ql(JCWO, ~mil~ 

scM>6rm<ll>6o m>J<ll>trmmo<I2fl 63'16ce,1 

mS.e6)6rTT')(ll)6QIOav m>C1UJ~c16, ~mil~ 

S.e6)6n'n m>m>Jrn3c16, 

14) <160§0 A av6o B av6o <1.0.Jm6orusl 

(J.!l,J(t)dK)66. 

A B 

a. m~11lallai1l6>eJ i) •§lav6fil! Q\&l(l!)o 

n.J~ 

b. •ocnom6 n(i)efl ii) cwavoan.iomS 

c. 63..g.J' iii) 6>0Jai1laf6 

•oavaf6 

d. s~9dru•o iv) Cl@~<IOJn!l<'ro 

V) OOnDm.Jm<ICT>n!:I® 

15) 6>6'll• &nm6•oo aru&nnlc6l6>~s6cm,CII)" 

Cl@<ll>" m.Jo~1m1avcm,1af6 rrllcmo6TT)" ? 

Cl@6>Cll)&bl~o mn 6>6>l6 sflm6•tM6'lS 

(Jn.J6)Cl)'f6(ll)6·· 
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Score 

16) Analyze the table given below and 

fill in the blanks. 

A 

Monarch butterfly and bird 
6''2l06mO©c&6> ~ l micn,ei C'B~o rudM:ilw3 o 

Score 

16) ~ru6>s mamablcwlmleK>6cm n.J§lc&.i n.1)(11) 

c&.ieimo 6>.!l.JC\i oJl~ an.JOCOJ fiOOOrn3cil, 

~ml~c.M>6c&.i. 

8 C 

@ Predation 
12mn..nslcm>o 

Beneficial to one species and the other 

Cattle egret and cattle 
species has neither benefit nor hann @ 

6)dibOA!db~O c&<m3dboeJlc&~o 
63(?)6 stio.Jlruro(l)cmS](T) C/)66TT)o, OlCIAcmlm Cl)J6TT)<JQlO 

(1(30ctij<JQlO ~eJ 

Ticks and dogs 
6>.!l.J ~o moww6o 

III. Answer any two questions from 

17-19. Each question carries three 

scores. (2x3=6) 

17) One of the important features of 

cloning vector is the presence of 

selectable marker. 

a) Write the role of selectable 

marker. Name the selectable 

markers used in PBR 322. 

b) Write the other two features of 

cloning vector. 

© @ 

III. 17 ~cmcd6 19 rus,coa»AU G.AJOBc)ABl1al 

nQ36>cm•1&!Jdo C06>6nl6IQ<lm1m' l<lm~ 

nQ>lfAaJ>A•· AOGCOO G.a.lOBJ<lm1fflAO ~mi' 

GC'IJlOi& n.ffcmo. (2X3=6) 

17) <3f306T'OlOC/l 6lnJdj06c&.i~6)S 63'°6 lnJWOffi 

~§ cruoJlaCll)~cmCOJo6m' 6lm>eictmllcil> 

moroeK>06~6ls cruomSlwJo. 

a) 6lcruei~ mllcil> moroeK>o6c&.ii66>s 

n.J6)11b(l1J)? PBR 322 <u<6 ~ 6)(T\)eJ 

ctmllcil, mo{bdK)()6ce:,cil, Cl(j36)an~oo ? 

b) <3f306T'Olocn 6>0Jc.fj06~6>s mff <Ori 

crunlla~anc&cil> n(j)ll6cm6c&. 

SSE 26 Biology 5/12 
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18) Observe the tenns given below. 

Natality, Mortality, Immigration, 

Emigration 

Identify and write the terms that 

increase population density. 

Substantiate your answer with 

suitable explanation. 

19) Observe the figure given below. 

Wells 

11111111111111 IIY 111111111 Im YII 

18) ~(lJ6)S m{d&ce;lal5lc6]t86)6cm n.JB6lJ13cm 

mlmidt86)Jdh. 

19) ~ru6ls mamdblavlc61t86)6<m ..!l.lltC!J>o crllm1 
cemlc006c:.&.,· 

¥ bands~ l . ,,--: DNA 

Largest Smallest 

a) Name the technique illustrated 

in the figure. 

b) Explain the process of separation 

of DNA fragments through 

this method. 

SSE 26 Biology 6/12 

a) .!l.11 l ® cmfl ~ m> .&.!l.11 c;:}:/l.gJl m1 c:96> 6 m, 

tiuldblav~cm'? 

b) ~ro liuldh1av<D1lei~6ls DNA 

®66r86dhei% aruro<mlmlc:96>6mi m"l<ml 

nJl(Jl)BQlOc:96>6c:.&.,. 
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PART-B 

ZOOLOGY 
Maximum : 30 Scores 

Score 

Answer all questions from question 
numbers 1 to 3. Each carries one 
score. (3xt=3) 

1. ABO blood grouping in human beings 
is an example of 

a) Incomplete Dominance 

b) Co-dominance 

c) Linkage 

2. Note the relation in the first pair and 
then complete the second pair. 

Purine : Adenine, Guanine 
Pyrimidines : _____ _ 

3. Expand the following in relation to 

assisted reproductive technologies : 

a) ZIFT 

b) ICSI 

Answer any nine from question numbers 
4 to 14. Each carries two scores. 

(9X2=18) 

4. Typhoid is a disease caused by 

bacteria. 

a) What are the symptoms of this 

disease? 

b) Name the pathogen and the 

confinnatory test. 

Time: I Hour 
Cool off Time : 10 Minutes 

Score 

1 tJllCIDai 3 OJQdlG»At}i n(i)fdO G..0.IOBJAB<iM>Ao 

~CIIQQHPAA 630Cll(l)O G.AJOB.)(ffl)KnAO MA~ 
nJICIDo. (3x1=3) 
1. mm6n!:!Jc616)eJ ABO a>cB{U)L006~ce,cib Clij)<ml 

6)cf60 ~G:>nnm6TT)m06TT) ? 

a) 1i:>CJ5lce, lnJce,s crujlioruo 

b) crunnLnJ~6lJ(l!) 

C) crunneJcm(l!) 

2. 63<Tro0l6Xm!)~6Yl.XT\.1Jo~, . 

~ ~ n..i~ce,. 

n.Jja>1m6cB:icib : C!ffl)6)CU)mlcf6, cnpmlcm 

n..llc6lai1ruJ'lm6cB:icib : ------'---

3. l n.J Cl!l ~ cd&n.J :> Gm crunno wcruoa !Jbcmlce, nJl s J 
cB:i~aiom51 6YlJCTW~§ ®06)':P ®rml~ru6)(l)) 
nJl~eJlc&c6ldM>6c& : 
a) ZIFT . 
b) ICSI 

4 ~<mm& 14 nJma»-~.)ABilall ~. 
ecit>tUcai' G..0.10Bc)ml<iclf> @(ffl)~IIACIDA6, ~ 

G.AJOB.)(m)1mAo Mnf oCYJlO&. (9x2=18) 

4. 6YlJ0~1<6lw ~6T'l'aOdM>6(TI') 63a>6 QCl)OCJ)CJlO&m" 

6')6)S<Jn!lOa»IC\JJ, 

a) {Q'll a mocnmml 6>1 ei ~ 6m6ll13 db 
Clij)6>Cffi~Oo ? 

b) acoocno6m6oJ16>1 acuco6o crudlco'lce,cosm 
II 

cuc6lawowmav66>S acuco6o n(j)':P6®6ce,. 
•.·· 
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6. 

a. 

b. 

c. 

d. 

IIIIIIIIIIHIIIIIIII 
Score Score 

This principle says allele frequencies in s. 63m6 gflrucrom~w16lei gflrmruc& <1sGo~mnSJ 

a population are stable and is constant ar>eJfDJOc&c.16 <1anoo60 crudlm~o ~CU9~moa»I 

from generation to generation. 
(61~66)Q)ffi') ~"() (tS)(ffl)_Jo ~()(W6(TI)6· 

a) Which principle? 
a) ®Cffl>Jo oe3m ? 

b) i2"0 ®Cffl>J6>Cffl> 611.1:>wl~(TI) ae.i~ 

b) Name the factors affecting this 
<l{j)'9JCl!)Jd». 

principle. 

6. (l.!l.JC!)6onJsl (J.!l.J(t)~6c& : 

Match the following : 

Neanderthal man 
i. 

Hunted with stone weapons. 
mlavormn.urocmclfB mm6oi1c)C"m u6leioav6w6'DT3c.i6 6lc&o6Tli aru3wosl. 

Fossils discovered in Java, large brain around 900 cc, 
Australopithecines probably ate meat. 

11. 
~lClll<leJ on.Jl cm>6>6>m>cmcru an.eomSl~c&~ sorua»lclfB c&6>6Tlicmil, 900 cc <J<WO@~ ruellw 

mcwl~o, moom>o <i~.qJlm66lrmnn' c&m6cm6rm6 . 
. 

Homo habilis Used hides to protect their body and buried their dead. 
lll, Cl'O(Qa,o ~ ~cfbdb ~~<Tr)!. 

annoamo nnom.Jleflcru 
~CIS)(JC3n!')6'DT3~ <m&OOo 6).!l.Jcwl(!)6<Tr)!• 

Brain capacities were between 650-800 cc, did not eat 
Homo erectus meat. 

iv. 
<BnOO<JQlO moce;'s<ru mewl~ rueflc.t10 650-800 cc, moocroo s~.qJlm6nnl~. 

SSE 26 Biology 8/12 
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7. In order to code for all the 20 amino 7. 20 CU1Dafl(lmo CU1Di.mH11av60 (160CW6&1Jl.J 

acids, the genetic code should be made 
(iOo\, e~ mmlm• (16ocuSlcd& (genetic 
code) 3 m~tf1(1a»o ""Acw6•~ mnocal'I 

up of three nucleotides. ldlcMrmo, 

a) Who suggested this ? a) 112mr CTil~(leJcl6141mocd'? 

b) List any four salient features of b) aamlm• a•ocwls,~ nm6>an81bl~o moel' 

genetic code. ln.JWOm CT\)jll0nJR13cJl> og)"lc\m6•· 

8. The following figure represent central 8. m:>6>'9anrml~ .!l.!lLmo <ldblCl3 mSh.oocm6')(ffl) 

dogma. (central dogma) .!l.!ll~6'61M>6CTTV,. 

Replication 

NA G uanacri~ .. mRNA translation protoin 

a) Who proposed central dogma ? a) 06lCl3cnSl'3.oomr>o mlif>aau61-!l!lmo<d'? 

b) What does it state? 
b) ll'ID> m1l '3.oocmo Cl© cmorm" 

ln.JCU,OnllM>6cman" ? 

9. Cancerous cells continue to divide 9. C'l1D~6Yl.16'3a60CJDR13cJl> m6sif>4zia»OCJlfl nflli 

giving rise to masses of cells called l!dl4zi" SJiCDOc\dbc.% og)CTTI QcibOCID cru~nn 

tumors. Tumors are of two types. 
6m~mB:>6Jcm6. s~mo6.e:,cJl> m~anm~mi. 
(UTl)OJ6>av ~m6~ o.flCJDdlce:,'61c86>66. 

Briefly explain them. 

10. A cross is made between tall pea plant 10. ~ll21mce6>,s6cm~o m6TUmrul cm,~ (Tt Y y) 
em6 6'l..Q.Js16>av, ~wmce6>,s6anei6o n.J~ 

with yellow seeds (TtYy) and tall pea n/lcm,6m6mi (Ttyy) em6 6>..o.Jslav6moavl 
plant with green seed (Ttyy). CTU!lbCl>6TY'lo 6)..QJ <i6 . 

a) Using a Punnett square, workout a) n.J6'lmrf ..Q.Jm6mo ~n.JaavouSl..gJ', cmo6'l'9 

the proportions of the following 'ct:l o av6 cm e~CJD J m,n.J rn3§6 6'lS (UR) s6 cm, 
cm ei m6 o ll2l1 6) ei (UR) m 6 n.J o cm o ce:, 6Tl86 

phenotype in the off spring. n.Jlslce6>6db. 
b) Tall and green. b) ~ll2/mce6>,Sc\<m~o n.J4!1l2160 

c) Dwarf and green C) ~W!nce6>c\On.Jc\O n.J4!1l2160 

SSE 26 Biology 9/12 
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11. An individual affected with a genetic 
'" 

disorder is short statured with small 

round head furrowed tongue and 

partially open mouth. 

a) Name the genetic disorder. 

b) Write the chromosomal 

composition. 

12. Arrange the steps of DNA fingerprinting 

in the correct order. 

a) Transferring (blotting) of separated 

DNA fragments to synthetic 

membranes, such as nitrocellulose 

or nylon 

b) Detection of hybridised DNA 

fragments by autoradiography. 

c) Isolation of DNA 

d) Hybridisation using labelled VNTR 

probe 

e) Digestion of DNA by restriction 

endonucleases 

f) Separation of DNA fragments by 

electrophoresis 

13. Homologous and analogous structures 

are evidences of evolution. With 

examples explain homologous and 

analogous structures. 

I llllllll lllll llll 11111111111111111 

Score 

11. 63Cl>6 Bl.lmlcmdb 6)6'JClJcB>eJJo 6YlJOu51.g.d C1.Jj~ci!ii' 

~ <l2' Cl> c:00 6 0 ru" 6) ~ 01 <l2' ~ Cl> 6 6ni cm ei , 

~ o~ m:>c:66'l, ~~n.Jo cm60cm ruoCDl' n<l)rml 

ru en, 3 6l'li. 

a) Sl.lm1cmdb 6)6)C1.JdbeJJd6)(Vl <Jn.Jm" 

nm1£>3cm3db. 

b) <llcB:iOmacrooo (Tl)Q)Oru>J<ml nm~3cm3db. 

12. cu5l. <lfi)OT>. <lfi). nrllocnro ln.Jl(@~6)eJ ne!§ 

60136)~ C/i)c61<l2':><l2' lcB:imcm51<0'3 <lfi)'96cm6cB>. 

a) (I C1.J «> 6) nJ 5 6 cm>1 <l2' M1 . <lfi) OT> · ne) . 

6l.l 6TTW60l36'i~ ( 6'J6)ffi<Jtso 6'icro~ aei :><TO, 
6) 6) ma ei o 6T'ro <lfi) crni ) m1 ro am1 cm cw co 

(synthetic membranes) 6m~aeic&6)" 

Q)OA~ 

b) 63oa3o aocwla<l2':>tcnnrll ~n.Ja<l2':>cril.!?,il" 

crullbco cwl.<lfi)<ili.nm. 6lJ6TTW6m~ <mlml.g.d 
cSl<l2''°'3 

c) cull. nm®• nm<l2'66)S <1rurocmlc61c:00<0'3 

d) CBlll5<l2'0~6)~56cm5l<l2' VNTR <Jlo.JOm! 

~nJ<J<l2'0cnl~ CTU!lbC06Tno 

e) 6)0cru"tsl~® nm®aMom~~ 1<J<l21ru" 

6) db o 611i 3 ~ M1 . nm ® . am (l2) 6 6) s 

aru>mo. 

f) i:QeJ<JlctO<Jn1l:>6)ocn5icru 6)r0J06l'Yi cull. nmd. 

nm. 6l.16TTW6m~6)5 C:ClJ«l6)nJ53cm>'°'3. 

I 3. crumsocm/iOCJ)rn3§6o crumwrom /80(J)6013§z!o 

o.J co16m o en cm>16) ~ 6)@ ~1 ru6ce:, ~ o 6m". 

c ru en s,.i ocm Ii:> CJ)6m ~ o cru m wro en 18 OCJ) 6013~ o 

~aoru>l'llomcrunnl cmo ru]Cll)B'ldbc61c:006c£b. 

SSE 26 Biology 10/12 



111111111111 
Score Score 

14. Innate immunity is accomplished by 
providing different types of barriers to 
the entry of the foreign agents into our 
body. Name the barriers. 

14. cru_pcaon.flce., Ln.JmSJ«>cib!tj cruoa.o Jllloc006cman, 
<UYOmJrucw6c00~ ~m1mcmSl<t6 ce.,sc006cmaiSI 
m o.no.nw ms<n>m3cib m"1~6>db060io6TT>. 
(UJ0 mscru611Bcib Offi'96m6ce.,. 

Answer any three from question numbers lSawu,cal lSru6)(1)(D)•G.AJOB~cd&~ 
15 to 18. Each carries three scores. mJmi' G.4.JOB.)ABc.i6Mi' fml>CDo nel11Aal>A6 • 

(Jx3=9) AOGICIO GI.AJOB.)ml>1fflAo mJmi' Gl('l?Oi. (3X3=9) 

15. The figure shows the process of 
transcription in Eukaryotes. 

15. mruace.,ou61ce.,@16>ei (Eukaryotes) n.Jc&«> 
6>c;cJS6cOOefl6>1 (transcription) Ln.Jldbla» 
avo6TT> ~tmcmSl<t6 ce.,omS14P<6lc006cman. 

Capping 

:·®-~l·~A5' ~~,~~~~N3• 
,/ 

Cap/.:• . 3,mRNA 
A lntron ,,,,l' 

"'G ,;" '- ~,1r.-...«·.,-,;;i::'• 
5' PPP, ;1,' 

Exon / RNA 1· ' P I d I . '6• sp 1cmg o ya eny at1on 

"'G ~ 3 5' PPP . I'\ _,,,,..,... ' 
I'\ .,-.,.W,,,.::, I'\ o~l.,..... 
,-.. ..... v.;1.T,:..• 

Q,·1"" Poly A tail 
"'G ,/' 
5' PPP 

Messenger RNA (m RNA) 

a) Explain the terms 
a) n.JC3611Bcib nJluodlce.,mlc006ce., : 

i) Capping i) cB.,JO'kllrn3 

ii) Exon ii) Oij)(J~06ml 

iii) Intron iii) ~m>atS06ml 

iv) RNA splicing. iv) (UJ0m. Oij)rn>. n©· ~mcpaoaavosamo 

b) Differentiate heterogeneous nuclear 

RNA (hnRNA) and mRNA. 

b) 6)nOAaoo !ilmcru" m~t31avom 
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calP)©, Oij)ffi>, n©· (hnRNA) Oij}O, calP)«>. 
Oij)m>. n©· (mRNA) Oij)cm1rum,66)S 
OJJ®JOm>o Oij)'96m6ce.,, 

• 
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' 

Score 
16. Placenta acts as an endocrine tissue 

and produces several hormones. 

a) What is placenta? 

b) List the hormones produced by 

placenta. 

c) Mention other functions of 

placenta. 

17. Complete the table below by 

using appropriate terms regarding 

contraceptive methods. 

Natural method 
ln..J~<mlBcm> CllO©IDm3cJb 

a --

Withdrawal or coitus 
Condoms 

interruptus 
cnro@mlcmowm 

nJl <mru Om3afo Cl!l?) l!ln.J 0 
~0c£b(Jn 

Clfl?)n..Jl «>6m 6)6)(1) l.OJ mo 

d e -- --

18. Female heterogamety is seen in 

birds. 

a) What is female heterogamety? 

b) Namethetypeofsex-determination 

seen in birds. 

c) With examples list the other types 

of sex determination 

I llllllll ml 1111111111 IW 1111 

Score 
16, aio6n.ll~ 63(!)6 (lffl)rTnlm>Orullcnm.dlavomfl 

ln..Jru rocmS1~6c&.iav60 an.noroaaioml~6cJb 
ie'n..Joal~~6c.0>av60 6>..!l.l~rm6. 

a) OlO&nJlffi O(j)CTnOaffi O(j)CTI!) ? 

b) lllO&n.Jl~ ~en.Joal~c66>Acm conoct> 
(IQl06TT>&c&.icJb O(i)':96®J6. 

C) lllO&n.ll~OVJ6>S lllA wroamm3cJl> 
O(j)'fJ®&•· 

17. Cl) ill Ci m1 <I Cl) 0 W m m Ill O «> en m3 ™ Ill O <Dfl 
6\'lJm.o~§ ~..oJlmmoav n..Jl36'Gl3cJb ~cavo 
cnl~ ®06>':9 6>60S6c66>JCTn n..J§)6 n..Jlit>cmtSl 
CIVO~J6. 

Surgical methods 
b 

Cllll(Wl61a>J lllOit>cnm3cJb --

Non-medicated IUDs 
_c_ 63'0~WC!)nrllm IUDs 

Tubectomy 
cum6TTU.lmogl <1.!2!0Bo f --

18, n..J~c&.ii1m'o lcu,i'81rmm!lsuamc.0>mJo 
c&.,6T\i6 (lJCl)6(m6, 

a) lcw"l"1rm m!lsasmc&.imJo n©cmoaffi 
O(j)cm'? 

b) n..J Ml c&.ii! 6'eJ eI1 ocnml cb6TT> av ~ <WI 
O@lf&<m6c&.i. 

c) ai A6 ei1 o en m1 cb m,cxv mi m1 •~ 
~'3:>nOCll&m cronrllcmo maffi66c&.i, 
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